
 

 
  

   
    

      
 

 

 

 

 

    

 
 
 

         
 

 
 

       
        

 
 

 

 

 

 

 

 

Geometry check-ups: Sample answers 
http://topdrawer.aamt.edu.au/Geometric-reasoning/Misunderstandings/Similar-or-
congruent/What-is-wrong-with-this-proof 

1. In the diagram below, AE = EC and BE = DE. ∠AEB = 90°. 

D 

E 

A 

C 

B 

(a) Prove that ΔABE ≡ ΔCDE. 
(b) Hence or otherwise prove that AB || DC. 
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2. In the diagram below, ∠ABC = ∠DCB and BE = EC. 

E 

D 

B C 

A 

(a) Prove that ΔABC is congruent to ΔDBC. 
(b) Hence prove that AE = ED. 
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